+H

e S M mt | m

At
3

=5
i

i

ik

T2 2FE

B

bk 1
E 2
7 3
&4
B 5
& 6
e 1
kK8

REREFFRIFAT AKX X
E3IELEREERTAREFZREFE (XF)

— X F K Mt &9

R LK |
___________ ok e
SR 3—2 PSeNGL
5-0 4-1
| v A8 *
_________ 432 1N
o =R
3-0 3-0
"""""" | Lrte
5-0 3-2
- X Hpor T
___________ 3-2 5-0 o
BE mE

| 50

.
=

T

ik

E 10
B 11
12
B 13
B 14
E 15
R 16

10

11

12

13

14

15

16



B

1R[] 1 SEIR BYE 2 2R1] 1 SEIR 5-0 XA 3 3R1 SEIR 3-0 BELR 8 4R1 SEIR 3-2 =B 16
S1 S1 TS 61 EH K& ST EXEES 61 NeE He ST TS 63 =H ol
b1 D1 EEES 60 SEIE BA b1 ET #ix 63 R¥ XEFm D1 R T 8% 62 TR =6
=R mthF Wi BibF EA mthF ABB Kk =R mthF F% BF
S2 S2 i BEXR 60 WE hgH S2 B BEX 45 = A S2 ] BEXR 46 AR ExR
D2 D2 TH &7 0 EH /F D2 TH &TE 62 AN AEF D2 TH &TE 25 EEC%
=N HEFIR =15 EE B R HEFIE X2 NE EEEX [EE #0718
S3 S3 [ZH 85 60 I ERF S3 FEM 85 22 AR S3 [ZH 85 06 fRE B
1R2] 3 BEA 3-2 — 4 2R2| 6 eSS 2-3 BExyRE 8 3R2 XFAHE 0-3 = 16
S1 ZH aa 61 NS S1 508 BiDF 06 NE Ho ST FAEES 16 EH Sl
D1 EBE B 16 Jt EFEH, D1 [ 36 S D1 R FIE 44 TR &%
Wi EiF ®XE AR FEE A £k ZMH Fih hE ET
S2 BA AT H 60 FH s A S2 JE4E &N 06 EEiiD S2 S H Fie 26 TA ER
b2 FH A% 67105) BE A% b2 I8 AT 63 R AEF b2 RH & 26 EELCE
=iE E¥E HIES G Ex 58 XE NG Al T8 [E A F07E
S3 \IE BERF 63 Al me S3 IEMR EF 61 A2 XHF S3 HE KK 12 RE BE
1R8] 5 = IR E 0-5 ZB¥E 6 | [2R3] 9 ZFAWE | 41 B 11
St T Ba 16 I8 B+ S1 AEES 61 AE BB
b1 iE &R 46 TEE = D1 K FNER 62 Fh RAE
RE #F% 2R i = Fim A
S2 ES R2 06 IEH BEF S2 S H Fife 46 S MEE
D2 EES] 16 Kig BR D2 HH & 63 =ik B
ZHFHH BH Tx Al T8 [N et
S3 & HE 46 e R S3 HX KK 64 EINGES
1R4] 7 KT 0-5 BELR 8 | [2R4] 13 FRERE 0-5 =B 16
St Bk BEE 06 INE HC St ZH T8 06 FEH E
D1 ELEST 06 KA XEFmM D1 RE UMY 2 R &
AR VB B EB AH =T S ¥ EF
S2 B A% 16 = A S2 fEhh BF 16 T Ex
b2 A T2E 36 3 BF b2 =k E 16 EE X
R FRG nEHE LW RS [EE FI1E
S3 JT9E BEE 06 e S3 ”EF 06 R BE
1R5] 9 XFAHE BYE 10
Si
D1
S2
D2
S3
1R6] 11 £33 4-1 FIZW 12
S1 AE BB 63 EZ B2
b1 Fh &AL 6 H Inds
i 2 INE BT
S2 S HEE 62 = thE
D2 s e 63 R HEl
NG FE F#H
S3 IS 76(0) A B
1R7] 13 FaAE 3-2 BRFE 14
Si &k EF 60 AR R
b1 RE UMY 06 Hef T&
BAEET LA 85F
S2 B EF 61 &k &




02| EEEE o BT
L RREE Bk s
S3 AH =T 36 Bt 575
1R8] 15 BYE 0-5 =B 16
S1
D1
S2
D2
S3




